Theme 1 – Price Elasticity


Income elasticity of demand (YED)

This is the responsiveness of demand to a change in income

It is calculated        % change in   quantity demanded  




% change in income

· A normal good is a good that experiences an increase in demand following an increase in income. It therefore has a positive income elasticity of demand. There are two types of normal goods:
· A good with a positive YED >1 is said to be income elastic. The larger the figure is - the more the goods will be a luxury.

· A good with a positive YED <1 is said to be income inelastic. It is likely to be a necessity good e.g. food.
· An inferior good is a good that experiences a fall in demand following an increase in income. It will have a negative income elasticity of demand

Normal goods have a positive income elasticity of demand – demand rises as income rises.
 

1. Normal necessities have an income elasticity of demand of between 0 and +1 for example, if income increases by 10% and the demand for fresh fruit increases by 4% then the income elasticity is +0.4. Demand is rising less than proportionately to income. 

2. Luxury goods and services have an income elasticity of demand > +1 i.e. demand rises more than proportionate to a change in income – for example a 8% increase in income might lead to a 10% rise in the demand for restaurant meals. The income elasticity of demand in this example is +1.25. 

The income elasticity of demand is usually strongly positive for: 


· Fine wines and spirits, high quality chocolates (e.g. Lindt) and luxury holidays overseas. 
Consumer durables - audio visual equipment, 3G mobile phones and designer kitchens.
Sports and leisure facilities (including gym membership and sports clubs). 

Inferior goods have a negative income elasticity of demand meaning that demand falls as income rises. 


Typically inferior goods or services tend to exist if there is a superior substitute/alternative available, in which the consumer will then purchase if they have the money to be able to buy it. Examples include the low-priced own (Tesco Value) label foods in supermarkets and taking the bus to work.

You do not need to worry about the elasticity in terms of inferior goods, if the figure is negative than that is as far as the analysis goes. 


	Normal Good (Luxury)
	Normal Good (Necessity)
	Inferior Good

	International air travel
	Fresh Vegetables
	Frozen vegetables

	Fine wines
	Petrol
	Primark clothes

	Luxury Chocolates
	Natural Cheese
	Processed Cheese

	Private Education
	Fruit Juice
	Margarine

	Private Healthcare
	Spending on utilities
	Tinned meat

	Antique Furniture
	Shampoo/toothpaste
	Tesco Value

	Designer Clothes
	Toothpaste
	Bus Travel
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Note: in Economics, Y is always used when referring to income and so if you see it in wider reading or other topics; it is still referring to income.
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